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3 1 1
4 1 1
5 | 1
total {1 2 2 3 | 9
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31 t &9 16895 3 17601
3 94 9957 19 10090
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Table IV. Number of (3,641 2 )-graphs
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Table II. Number of (3,4,n,e)-graphs

edges number of vertices n total
e 1 2 3 4 5 6 7 8 9 10 11 12 13
0 1 1 1 1 4
1 1 1 1 ] 4
2 1 2 2 1 6
3 2 3 3 1 9
4 1 4 6 2 I 14
5 2 8 7 i 18
6 1 7 13 5 26
7 4 17 13 1 35
3 2 15 27 3 47
9 1 10 39 11 61
10 4 4] 28 1 74
3 1 27 59 2 8%
i2 1 15 1713 10 99
13 6 62 32 100
14 2 3 69 104
15 1 14 36 i 102
16 1 4 65 6 76
17 2 32 19 53
18 12 31 43
19 3 30 33
20 1 13° 1 15
21 4 2 &
22 1 5 6
23 2 2
24 2 2
25 0
26 1 1
total | I 2 3 -7 13 32 7§ 179 290 313 105 12 1| 1029

Table [IL Number of (3,5,1,2)-graphs



